TEEHTUT
IJIRTAEN)2—TS5UB HER

(1) HEHE (Bisr) (2) BHEHE (%)
ZHEF10A 237M60%% RAD120kWhET 17/ 728%
2B H20A 475M20%% 120kWhitBi ~300kWhE T 21/ 188%
$2HE S130A 712 80%% 300kWhitZ i 22M568%
249 5140A 950F40%%
22#9E H150A 1,188F00%%
22#9E 160A 1,425 60%%
XEEHENICEFTEEAFEREN0FATYRFS>T-IBEEMEANEOFBOEENRENLET,
(3) HEAZEMSE
DBEVDIZESTHEEEIN-BEAPELENENESLOAHATEOREABEHEZTELGEIT.
ZD1TADOHEF. ROFJEABEHERVBETRIRILFT—RERERREEDAIEVELET,
(€575%9)
18812 0F 178 08%%
IJIRTAEN)1—T52C ek
(1) HEEHE (€575%9) (2) BHEHE (%3A)
1kVAIZDE 237M608% RUD120kWhET 17M728%
120kWhit;8 ~300kWhET 21 18%%
300kWhitB i 22568

KEEHEANICEFEENERENOFATYRFESMIES FMERNEOFEDOEENRENLET,

IDIRTAEN)1—TSUBHEBEERER
(1) EXHEE (Fiar)

TkWIZDZE 1,144 80%%
(FtsA)
(2) BhEHSE EhEHS
1kWh#7=1)
RUID[ZHE A X 100]JkWhFET 11/83M 10M 7082
BEF S JOLES
[32#9E 5 X 100]kWhiB:E 1 2M8542 12MI82E

KEEHENICEFTEENERENOFATYRFESMIES FMERNEOFBEOEENRENLET,
(3)  BRfERES5

ARDOEAERE (kWh) A%, BEARZHESN (W) DT0EUTDIHE EARHE10%3|E

ARIDOENERE (kWh) A%, BEAZHE SN (kW) DT0EHB A ~ 1008 AT D5 E EARHE8%5|E

ARDOEAERE (kWh) A%, BEARZHE S (kW) D100fEE B A =156 PIET))




